g :
iSchool™ i+~
“of Business
& Ecoriomics
Pttt

1102-Microeconomics
Second Final

Maria Antonieta da Cunha e Sa 8/6/2012

Bruno Martins

Doruk Iris 11.30-13.30pm
Warnings

1. Calculators or any other electronic devices are not allowed.
2. No questions are answered during the test.

Honor’s Commitment

[ declare that I will neither use nor contribute, directly or indirectly, to any illegal
procedure or fraud during this test.

Signature:

Good Luck!

5(:) N TU /P /{: cs

——

Name: Ne:




I
&)

Suppose a representative firm in a perfectly competitive, constant-cost industry has
a cost function

TC =24 +100g +100
(a) If market demand is given by Q=500-P, where P denotes price, and knowing that
there are 12 firms operating in this market, obtain the short-run equilibrium for this
market. [llustrate graphically this equilibrium.
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(b) How much is produced by each firm and at what price? Represent graphically
the short-run equilibrium for the representative firm.
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Consider a firm that operates with the following production function
Y =(K+L)!?
where labor (L) and capital (K) are the inputs needed to produce the output Y.

The prices of inputs are given by w=1 for labor and r=2 for capital.

- a) Does the firm exhibits increasing, decreasing or constant returns to scale? Why?
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}/‘% b) Derive the conditional demand functions for the inputs, given the specified
Q) prices and show graphically the optimal choice of inputs.
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2. Suppose that the same firm as in 1. (operating with the same production function) is

the only producer in the market and the market demand function is given by
Y2 = 6— 0.5p.

¢) Determine the total cost function in the short-run for a fixed amount of capital,

that is, K = K . i W e
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J}p\{ d) Determine the optimal quantity produced in the market and the equilibrium
5 Q price. Illustrate graphically. Is the market efficient? Why or why not?
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\,\{’ e) Suppose that the government sets the price at 6. Compute the change in

consumer surplus, profits and total welfare with respect to question d). Illustrate

these changes graphically. ‘
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O § (7 D Suppose that the demand is now perfectly elastic at pD = 8. Derive the new
(
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equilibrium quantity and price. Is the market efficient? Why or why not?
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g) How do you relate the equilibrium in f) with a perfect competitively
@(5 \{k equilibrium? Explain briefly.
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Consider a consumer with the following utility function:
U(x,y)=xy

Let p, = 10 and p,, = 2 represent the unitary prices of good x and y, respectively.

Assume that the income of the consumer is 4 = 100,
a) Derive the demand functions for x and y and determine the optimal choice given

§ {D'l‘\ ' the specified prices and income.
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[llustrate graphically.
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; ¢) Compare the results obtained in b) with those that you would have obtained with
@, a quasilinear utility function.
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d) Suppose the price of y increases to 5. How much would you be willing to pay to
avoid the price increase? (Nofe: You do not have to present the simplified value,

4 5 an expression is enough)
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5 e) And what is the minimum compensation you would be willing to accept for the

‘4[ price increase? (Note: You do not have to present the simplified value, an
M expression is enough)
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o 5 f) Given the results obtained in the previous two questions, what can you say about
V\XS the value of the change in consumer surplus?
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g) If you had a quasilinear utility function, with y being the good with a non-linear
impact in utility. how would you relate questions d), ) and f)? Explain briefly.
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Imagine that a tennis club rents its courts for 25 € per person per hour. Assuming
that Maria’s demand curve for court time is given by

p=50-0.25¢
where q is measured in hours per year, and that there are no other tennis courts close

by, what is the maximum annual membership fee that Maria would be willing to pay
for the right to buy court time for 25€ per hour?
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